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BLOOD RELATION
Practice
Sheet

1. Pointing towards a boy, Shalini said, “He is my
daughter’s father’s wife’s father’s wife’s only son”. How
is Shalini related to the boy?

,d yM+ds dh vksj b'kkjk djrs gq,] 'kkfyuh us dgk] ¶og esjh csVh ds
firk dh iRuh ds firk dh iRuh dk bdykSrk csVk gŞ A 'kkfyuh dk ml
yM+ds ls D;k lacaèk gS\
(a) Sister-in-law/HkkHkh

(b) Daughter/csVh

(c) Daughter-in-law/iq=ko/q

(d) Sister/cgu
2. Ranjana said to a woman, “My father is the paternal

grandfather of your son Piyush”. How is Piyush related
to Ranjana?

jatuk us ,d efgyk ls dgk] ¶esjs firk vkids iq=k ih;w"k ds nknk gSa¸A
ih;w"k dk jatuk ls D;k lacaèk gSA
(a) Brother/HkkbZ (b) Nephew/Hkrhtk

(c) Grandson/iksrk (d) Cousin/ppsjk HkkbZ

3. ‘A # B’ means ‘A is the sister of B’.

‘A # B’ dk vFkZ gS fd ‘A, B dh cgu gS’A
‘A $ B’ means ‘A is the father of B’.

‘A $ B’ dk vFkZ gS fd ‘A, B dk firk gS’A
‘A @ B’ means ‘A is the wife of B’.

‘A @ B’ dk vFkZ gS fd ‘A, B dh iRuh gS’A
‘A % B’ means ‘A is the brother of B’.

‘A % B’ dk vFkZ gS fd ‘A, B dk HkkbZ gS’A
Which of the following options means ‘J is the father
of R’ ?

fuEufyf[kr esa ls fdl fodYi dk vFkZ gS fd ‘J, R dk firk gS’ A
(a) J @ C $ K % M # R

(b) C @ J % K $ M # R

(c) C @ J $ K % M # R

(d) C @ R $ K % M # J

4. Introducing Reshma to a guest, a lady, Karishma, said,
“She is the daughter of my father-in-law’s daughter”.
How is Reshma related to Karishma?

,d vfrfFk ls js'kek dk ifjp; djkrs gq, ,d efgyk dfj'ek us dgk]
¶og esjs lqlj dh csVh dh csVh gŞ A js'kek dk dfj'ek ls D;k lacaèk gSA
(a) Cousin/ppsjh cgu (b) Sister/cgu

(c) Niece/Hkkath (d) Sister-in-law/uun

5. Pointing towards the photograph of a lady, Varun said,
“She is my father-in-law’s son’s only sister’s mother-
in-law”. How is Varun related to that lady?

,d efgyk dh rLohj dh vksj b'kkjk djrs gq,] o#.k us dgk] ¶og esjs
llqj ds csVs dh bdykSrh cgu dh lkl gŞ A o#.k dk ml efgyk ls D;k
lacaèk gS\
(a) Brother/HkkbZ (b) Husband/ifr
(c) Son-in-law/nkekn (d) Son/csVk

6. There are seven members, B, C, D, E, F, G and H, in a

family. H is the only daughter-in-law of D. E is the sister

of C. C is the only son of F, who is the wife of D. B and G

are the sons of H. How is G related to F?

,d ifjokj eas lkr lnL; B, C, D, E, F, G vkSj H gSaA H, D dh
bdykSrh iq=ko/q gSA E, C dh cgu gSA C ml F dk bdykSrk iq=k gS] tks
fd D dh iRuh gSA H ds iq=k B vkSj G gSaA G dk F ls D;k lacaèk gS\

(a) Son/csVk (b) Grandson/iksrk

(c) Father/firk (d) Brother/HkkbZ

7. There are six members, P,Q, R, S, T and U, in a family.

T is the brother of P's husband. U is the mother of T. Q

is the daughter of S and P and the granddaughter of R.

How is R related to T?

,d ifjokj esa N% lnL; P, Q, R, S, T vkSj U gSA T, P ds ifr dk
HkkbZ gSA U, T dh eka gSA Q, S vkSj P dh iq=kh gS vkSj og R dh iksrh
gSA R dk T ls D;k lacaèk gS\

(a) Father/firk (b) Brother/HkkbZ

(c) Son/csVk (d) Uncle/pkpk

8. Pointing towards a woman, Reena said, “She is the only

daughter of my father-in-law.” How is the women related

to Reena?

,d efgyk dh vksj b'kkjk djrs gq, jhuk us dgk] ¶og esjs llqj dh
bdykSrh csVh gSA¸ efgyk jhuk ls fdl izdkj lacafèkr gS\

(a) Sister/cgu (b) Sister-in-law/uun

(c) Mother/eka (d) Daughter/iq=kh

9. Mahesh is the father of Riva and paternal grandfather

of Vansh. Aakash is the brother of Riva and father of

Vansh and Ritu. Ritu is the only daughter of Aakash

and Maya. How is Mayra related to Mahesh?

egs'k] jhok ds firk vkSj oa'k ds nknk gSaA vkdk'k] jhok dk HkkbZ gS rFkk oa'k
vkSj fjrq dk firk gSA fjrq] vkd'k vkSj ek;k dh bdykSrh cSVh gSA ek;k dk
egs'k ls D;k lacaèk gS\

(a) Daughter/csVh (b) Aunt/pkph

(c) Sister/cgu (d) Daughter-in-law/iq=ko/q

10. If Arpita is the only daughter of Pritam’s wife’s husband,

then how is Arpita related to Pritam’s son?

;fn v£irk izhre dh iRuh dh eka ds ifr dh bdykSrh iq=kh gS] rks v£irk
dk izhre ds iq=k ls D;k lEcUèk gS\

(a) Mother/ek¡

(b) Sister/cgu

(c) Daughter/iq=kh

(d) Paternal granddaughter/iksrh

11. Saloni is the daughter of the only son of Kartik. Nirupama

is the mother of Deepak. Yamini's only son, Ankit, is

married to Nirupama. Kartik is the paternal grandfather

of Deepak. How is Kartik related to Ankit?
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lyksuh] dk£rd ds bdykSrs csVs dh csVh gSA fu#iek] nhid dh eka gSA ;kfeuh
ds bdykSrs csVs vafdr dh 'kknh fu#iek ls gqbZ gSA dk£rd] nhid ds nknk
gSaA dk£rd dk vafdr ls D;k lacaèk gS\
(a) Father/firk (b) Paternal uncle/pkpk

(c) Son/csVk (d) Brother/HkkbZ

12. Pamila is the maternal granddaughter of Akun who is

married to Nikita. Murali is the brother-in-law of AKun

who has two daughters but no son. Rahul is the cousin

of Kamal and brother of Pamila. Uday and Vanmay are

the sons-in-law of Nikita. Vanmay is married to Yamini

and they have two daughters and one son. Uday has

one son and one daughter. Tien and Smita are and

daughters of Yamini. Murali is unmarried. How is Yamini

related to Rahul?

ikfeyk] vadqu dh ukfru gS ftldh 'kknh fufdrk ls gqbZ gSA eqjyh] vdqu
dk lkyk gS ftldh nks csfV;k¡ gSa ysfdu dksbZ csVk ugah gSA jkgqy] dey
dk ekSlsjk HkkbZ vkSj ikfeyk dk HkkbZ gSA mn; vkSj oue; fufdrk ds nkekn
gSA oue; dh 'kknh ;kfeuh ls gqbZ gS vkSj mudh nks csfV;k¡ vkSj ,d csVk
gSA mn; dk ,d csVk vkSj ,d csVh gSA Vhuk vkSj fLerk] ;kfeuh dh csfV;k¡
gSaA eqjyh vfookfgr gSA ;kfeuh dk jkgqy ls D;k lacaèk gS\

(a) Daughter/csVh (b) Sister/cgu

(c) Aunt/ekSlh (d) Mother/ek¡

13. ‘A % B’ means ‘A is the sister of B’.

‘A % B dk vFkZ gS fd ‘A, B dh cgu gS’A
‘A $ B’ mean ‘A is the brother of B’.

‘A $ B’ dk vFkZ gS fd ‘A, B dk HkkbZ gS’A
‘A @ B’ means ‘A is the son of B’.

‘A @ B’ dk vFkZ gS fd ‘A, B dk iq=k gS’A
‘A & B’ means ‘A is the mother of B’.

‘A & B’ dk vFkZ gS fd ‘A, B dh ekrk gS’A
If ‘R % T & Z $ S @ V @ C % Y’, then which of the following
statements is NOT correct?

;fn ‘R % T & Z $ S @ V @ C % Y’ gS] rks fuEUkfyf[kr eas ls dkSUk&lk
dFku lgh ugha gS\
(a) C is the paternal grandmother of Z/C, Z dh nknh gSA

(b) T is the daughter of C/T, C dh iq=kh gSA

(c) V is the father of Z/V, Z ds firk gSA

(d) T is the Mother of S/T, S dh ekrk gSA
14. If Arpita is the only daughter of Pritam’s wife’s husband,

then how is Arpita related to Pritam’s son?

;fn v£irk izhre dh iRuh dh eka ds ifr dh bdykSrh iq=kh gS] rks v£irk
dk izhre ds iq=k ls D;k lEcUèk gS\

(a) Mother/ek¡

(b) Sister/cgu

(c) Daughter/iq=kh

(d) Paternal granddaughter/iksrh
15. ‘A + B’ means ‘A is the daughter of B’.

‘A + B’ dk vFkZ gS fd ‘A, B dh csVh gS’A
‘A $ B’ means ‘A is the husband of B’.

‘A $ B’ dk vFkZ gS fd ‘A, B dk ifr gS’A
‘A @ B’ means ‘A is the brother of B’.

‘A @ B’ dk vFkZ gS fd ‘A, B dk HkkbZ gS’A
‘A & B’ means ‘A is the mother of B’.

‘A & B’ dk vFkZ gS fd ‘A, B dh ek¡ gS’A
‘A % B’ means ‘A is the son of B’.

‘A % B’ dk vFkZ gS fd ‘A, B dk csVk gS’A
If ‘W @ S % K $ G & U & T @ R + C’, then which of the
following statements is correct?

;fn ‘W @ S % K $ G & U & T @ R + C’ gS] rks fuEufyf[kr esa ls
dkSu&lk dFku lgh gS\
(a) C is the wife of U/C, U dh iRuh gSA

(b) G is the father of W/G, W ds firk gSA

(c) G is the maternal grandmother of R/G, R dh ukuh gSA

(d) C is the father-in-law of K/C, K dk llqj gSA
16. Introducing Kaumudi to a guest, a boy, Mihir, said, “She

is the only daughter of the mother’s brother-in-law”. How
is Mihir related to Kaumudi?

,d esgeku dks dkSeqnh dk ifjp;u djkrs gq, ,d yM+ds fefgj us dgk]
¶og esjh ek¡ ds nsoj dh bdykSrh csVh gŞ A fefgj dk dkSeqnh ls D;k
lacaèk gS\
(a) Brother/HkkbZ (b) Cousin/ppsjk HkkbZ

(c) Uncle/pkpk (d) Father/firk
17. Jahnavi is the sister of Taruni. Taruni is married to

Dilip. Dilip is the father of Raghu. Manoj is the son of
Hema. Taruni is the mother-in-law of Hema. Dilip has
only one so and do daughter. Jahnavi is married to
Barun. Lekha is the daughter of Barun.

How is Jahnavi’s sister related to the Manoj’s paternal
grandfather?

tkÉoh] r#.kh dh cgu gSA r#.kh dk fookg fnyhi ls gqvk gSA fnyhi]
j?kq dk firk gSA eukst] gsek dk iq=k gSA r#.kh] gsek dh lkl gSA fnyhi
dk ,d gh csVk gS vkSj dksbZ csVh ugha gSA tkÉoh dk fookg c#.k ls gqvk
gSA ys[kk] c#.k dh iq=kh gSA

(a) Mother/ekrk (b) Wife/iRuh

(c) Sister/cgu (d) Mother-in-law/lkl

18. ‘Z + Y’ means ‘Y is the son of Z’.

‘Z + Y’ dk vFkZ gS fd ‘Y, Z dk iq=k gS’A
‘Z $ Y’ means ‘Y is the father of Z’.

‘Z $ Y’ dk vFkZ gS fd ‘Y, Z ds firk gS’A
‘Y % Z’ means ‘Y is the son-in-law of Z’.

‘Y % Z’ dk vFkZ gS fd ‘Y, Z dk nkekn gS’A
‘Z – Y’ means ‘Y is the wife of Z’.

‘Z – Y’ dk vFkZ gS fd ‘Y, Z dh iRuh gS’A
‘Y * Z’ means ‘Z is the brother of Y’.

‘Y * Z’ dk vFkZ gS fd ‘Z, Y dk HkkbZ gS’A
‘Y # Z’ means ‘Z is the only sister of Y’.

‘Y # Z’ dk vFkZ gS fd ‘Z, Y dh bdykSrh cgu gS’A
Which two symbols can sequentially replace the

question mark (?) in the following expression to show

that ‘D is the wife of W’ ?

fuEufyf[kr O;atd esa iz'uokpd fpUgksa (\) ds LFkku ij Øfed :i ls
vk ldrs okys dkSu&ls nks fpUg ;g n'kkZ ldrs gSaaS fd ‘D, W dh iRuh
gS’\
W % O – B ? C ? D

(a) + and –/+ vkSj – (b) % and –/% vkSj –

(c) $ and +/$ vkSj + (d) + and #/+ vkSj #
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19. If the father of Swati is the maternal grandfather of

Divya, who is the daughter of Manya, then how is Manya’s

husband’s father related to Divya?

;fn Lokfr ds firk ml fnO;k ds ukuk gSa] tks fd ekU;k dh iq=kh gS] rks
ekU;k ds ifr ds firk dk] fnO;k ls D;k lacaèk gS\

(a) Paternal uncle/pkpk (b) Maternal grandfather/ekek

(c) Father/firk (d) Paternal grandfather/nknk

20. Niraj is the father of Rinku. Jiya and Tiya are the

daughters of Ruby, who is the only sister of Rinku,

Vishnu is the son of Rinku and Gita. How is Niraj related

to Tiya?

uhjt] fjadw dk firk gSA ft;k vkSj fV;k :ch dh csfV;ka gSa] tks fd fjadw
dh bdykSrh cgu gSA fo".kq] fjadq vkSj xhrk dk iq=k gSA uhjt dk fV;k ls
D;k lacaèk gS\

(a) Paternal grandfather/nknk

(b) Paternal uncle /pkpk

(c) Maternal grandfather/ukuk

(d) Maternal uncle/ekek

21. Vinita and Amita are the sisters of Gaurav. Ashiss is

the fatehr of Vinita. Ansh is the son of Amita. How is

Ashish related to Ansh?

fouhrk vkSj vferk xkSjo dh cgusa gSaA vk'kh"k] fouhrk dk firk gSA va'k]

vferk dk iq=k gSA vk'kh"k dk va'k ls D;k lacaèk gS\

(a) Paternal uncle/pkpk

(b) Maternal grandfather/ukuk

(c) Maternal uncle/ekek

(d) Paternal grandfather/nknk

22. A & B means ‘A is the son of B’

A # B means ‘A is the sister of B’

A @ B means ‘A is the brother of B’

A % B means ‘A is the father of B’

A – B means ‘A is the daughter of B’

A * B means ‘A is the wife of B’

If C # D @ E % Z & L # M - N * P, then how is L related

to P?

A & B dk vFkZ ‘A, B dk iq=k gSA’
A # B dk vFkZ ‘A, B dh cgu gSA’
A @ B dk vFkZ ‘A, B dk HkkbZ gSA’
A % B dk vFkZ ‘A, B dk firk gSA’
A – B dk vFkZ ‘A, B dh iq=kh gSA’
A * B dk vFkZ ‘A, B dh iRuh gSA’

;fn C # D @ E % Z & L # M - N * P gks] rks L dk P ls D;k
laca/ gS\

(a) Wife / iRuh

(b) Daughter / iq=kh

(c) Daughter-in-law / iq=ko/q

(d) Sister / cgu

23. ‘A @ B’ means ‘A is the husband of B’.

‘A & B’ means ‘A is the father of B’.

‘A # B’ means ‘B is the son of A’.

If S @ T # P @ Q # R & V, then how is T related to Q?

‘A @ B’ dk vFkZ ‘A, B dk ifr gSA’
‘A & B’ dk vFkZ ‘A, B ds firk gSaA’
‘A # B’ dk vFkZ ‘B, A dk iq=k gSA’.

;fn S @ T # P @ Q # R & V gks] rks T dk Q ls D;k laca/ gS\

(a)  Husband / ifr (b) Mother / ek¡

(c) Mother-in-law / lkl (d) Sister / cgu
24. A & B means ‘A is the wife of B’

A # B means ‘A is the father of B’

A @ B means ‘A is the son B’

A % B means ‘A is the husband of B’

A + B means ‘A is the mother of B’

If A & B # C & D @ E % F + G, then how is A related to D?

A & B dk vFkZ gS ‘A, B dh iRuh gSA’
A # B dk vFkZ gS ‘A, B dk firk gSA’
A @ B dk vFkZ gS ‘A, B dk iq=k gSA’
A % B dk vFkZ gS ‘A, B dk ifr gSA’
A + B dk vFkZ gS ‘A, B dh ekrk gSA’
;fn A & B # C & D @ E % F + G gS] rks A, D ls fdl izdkj
lacafèkr gS\

(a) Daughter-in-law / iq=ko/q (b) Mother-in-law / lkl

(c) Mother / ek¡ (d) Sister / cgu

25. A & B means ‘A is the son of B’

A # B means ‘A is the sister of B’

A @ B means ‘A is the brother of B’

A % B means ‘A is the father of B’

A - B means ‘A is the daughter of B’

A * B means ‘A is the wife of B’

If C # D @ E % Z & L # M – N * P, then how is Z related
to N?

A & B dk vFkZ gS ‘A, B dk iq=k gSA’
A # B dk vFkZ gS ‘A, B dh cgu gSA’
A @ B dk vFkZ gS ‘A, B dk HkkbZ gSA’
A % B dk vFkZ gS ‘A, B dk firk gSA’
A - B dk vFkZ gS ‘A, B dh iq=kh gSA’
A * B dk vFkZ gS ‘A, B dh iRuh gSA’

;fn C # D @ E % Z & L # M – N * P gS] rks Z, N ls fdl izdkj
lacaf/r gS\
(a) Son / iq=k

(b) Grandfather / nknk

(c) Father / firk

(d) Grandson / ukrh

26. F + M means ‘F is the husband of M’

F ÷ M means ‘F is the daughter of M’

F - M means ‘F is the father of M’

F × M means ‘F is the mother of M’

If U + V × K – B, then how is U related to B?

F + M dk vFkZ gS ‘F, M dk ifr gSA’
F ÷ M dk vFkZ gS ‘F, M dh iq=kh gSA’
F - M dk vFkZ gS ‘F, M ds firk gSaA’
F × M dk vFkZ gS ‘F, M dh ekrk gSA’
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;fn U + V × K – B gks] rks U, B ls fdl izdkj lacaf/r gSA
(a) Paternal grandmother / nknh

(b) Paternal grandfather / nknk

(c) Maternal grandmother / ukuh

(d) Father / firk

27. If A ÷ B means that A is the brother of B, A × B means
that A is the sister of B, A – B means that A is the father
of B then which of the following expression shows that
P is the father of R?

;fn A ÷ B dk vFkZ gS A, B dk HkkbZ gS, A × B dk vFkZ gS A, B dh cgu
gS, A – B dk vFkZ gS A, B dk firk gS] rks fuEu esa ls dkSu lk O;atd ;g
iznf'kZr djrk gS fd P, R ds firk gSa\
(a) P – Q × R (b) P × Q – R

(c) P ÷ Q × P (d) P – Q – R

28. A @ B means ‘A is the sister of B’.

A & B means ‘A is the brother of B’.

A # B means ‘A is the wife of B’.

A ^ B means ‘A is the mother of B’.

A + B means ‘A is the father of B’.

If H @ V @ U # W & E ̂  X # Z & R ̂  S, then which of the
following statements is correct?

A @ B dk vFkZ gS ‘A, B dh cgu gSA’
A & B dk vFkZ gS ‘A, B dk HkkbZ gSA’
A # B dk vFkZ gS ‘A, B dh iRuh gSA’
A ^ B dk vFkZ gS ‘A, B dh ek¡ gSA’
A + B dk vFkZ gS ‘A, B dk firk gSA’

;fn H @ V @ U # W & E ̂  X # Z & R ̂  S gS] rks fuEu esa ls dkSu&lk
dFku lgh gS\

(a) Z, S dh lkl gSA (b) W, U dk ifr gSA

(c) E, Z dh iRuh gSA (d) U, H dk firk gSA

29. A – B means ‘A is the mother of B’

A * B means ‘A is the sister of B’

A % B means ‘A is the husband of B’

A $ B means ‘A is the son of B’

If P – Q – R * S $ T, then how is P related to T?

A – B dk vFkZ gS  ‘A, B dh ek¡ gSA’
A * B dk vFkZ gS  ‘A, B dh cgu gSA’
A % B dk vFkZ gS  ‘A, B dk ifr gSA’
A $ B dk vFkZ gS  ‘A, B dk iq=k gSA’

;fn P – Q – R * S $ T gS] rks P, T ls fdl izdkj lacaf/r gS\
(a)  Mother / ek¡

(b) Mother-in-law / lkl

(c) Sister / cgu

(d) Sister-in-law / HkkHkh

30. If A × B means that A is the brother of B, A ÷ B means
that A is the sister of B, A + B means that A is the father
of B then which of the following expression shows that
P is the sister of R?

;fn A × B dk vFkZ gS fd A, B dk HkkbZ gS] A ÷ B dk vFkZ gS fd A,

B dh cgu gS] A + B dk vFkZ gS fd A, B dk firk gS rks fuEufyf[kr
esa ls dkSu&lk O;atd ;g n'kkZrk gS fd P, R dh cgu gS\
(a) P + Q × R (b) P ÷ Q × R

(c) P × Q ÷ R (d) P ÷ Q + R

31. A $ B means ‘A is the husband of B’

A @ B means ‘A is the daughter of B’

A # B means ‘A is the father of B’

A * B means ‘A is the mother of B’

If X @ Y $ J * M, then how is X related to M?

A $ B dk vFkZ gS ‘A, B dk ifr gSA’
A @ B dk vFkZ gS ‘A, B dh csVh gSA’
A # B dk vFkZ gS ‘A, B dk firk gSA’
A * B dk vFkZ gS ‘A, B dh ekrk gSA’

;fn X @ Y $ J * M gS] rks X fdl izdkj M ls lacaf/r gS\
(a) Brother / HkkbZ (b) Sister-in-law / HkkHkh

(c) Sister / cgu (d) Grandmother / nknh

32. If A ÷ B means that A is the father of B, A – B means that
A is the mother of B, A + B means that A is the brother
of B then which of the following expression shows that
P is the mother of R?

;fn A ÷ B dk vFkZ gS A, B dk firk gS]  A – B dk vFkZ gS A, B dh ek¡
gS]  A + B dk vFkZ gS A, B  dk HkkbZ gS] rks fuEufyf[kr esa ls dkSu&lk
O;atd ;g iznf'kZr djrk gS fd P, R dh ek¡ gS\
(a) Q – P + R (b) P – Q + R

(c) P – Q ÷ R (d) R + P – Q

33. ‘A   B’ means ‘A is the sister of B’.
‘A * B’ means ‘A is the mother of B’.
‘A @ B’ means ‘B is the father of A’.

‘A # B’ means ‘B is the wife of A’.
If V   U @ W # Y * Z, then how is V related to Z?

‘A   B’ dk vFkZ gS ‘A, B dh cgu gSA’
‘A * B’ dk vFkZ gS ‘A, B dh ek¡ gSA’
‘A @ B’ dk vFkZ gS ‘B, A dk firk gSA’
‘A # B’ dk vFkZ gS ‘B, A dh iRuh gSA’
If V   U @ W # Y * Z gS] rks V, Z ls fdl izdkj lacaf/r gS\
(a) Sister / cgu (b) Mother / ek¡

(c) Wife / iRuh (d) Father / firk

34. A # B means ‘A is the brother of B’.

A @ B means ‘A is the son of B’.

A & B means ‘A is the father of B’.

A % B means ‘A is the mother of B’.

If W # Q @ T & Y @ M % K % L, then how is K related to
W?

A # B dk vFkZ gS ‘A, B dk HkkbZ gSA’
A @ B dk vFkZ gS ‘A, B dk iq=k gSA’
A & B dk vFkZ gS ‘A, B ds firk gSa’.
A % B dk vFkZ gS ‘A, B dh ek¡ gSA’

;fn W # Q @ T & Y @ M % K % L gS] rks K, W ls fdl izdkj
lacaf/r gS\
(a) Sister / cgu (b) Sister-in-law / HkkHkh

(c) Mother / ek¡ (d) Daughter / iq=kh

35. A + B means ‘A is the father of B’

A – B means ‘A is the mother of B’

A % B means ‘A is the brother of B’

A # B means ‘A is the daughter of B’

If P + Q % R % S # T – U , then how is Q related to U?

A + B dk vFkZ gS ‘A,B dk firk gSaA’
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A – B dk vFkZ gS ‘A, B dh ek¡ gSA’

A % B dk vFkZ gS ‘A, B dk HkkbZ gSA’

A # B dk vFkZ gS ‘A, B dh csVh gSA’

;fn P + Q % R % S # T – U gS] rks Q, U ls fdl izdkj lacaf/r gS\

(a) Brother / HkkbZ

(b)  Brother-in-law / lkyk

(c) Father / firk

(d) Son / iq=k

36. A & B means ‘A is the wife of B’

A # B means ‘A is the father of B’

A @ B means ‘A is the son B’

A % B means ‘A is the husband of B’

A + B means ‘A is the mother of B’

If A & B # C & D @ E % F + G, then how is D related to

G?

A & B dk vFkZ gS ‘A, B dh iRuh gSA’

A # B dk vFkZ gS ‘A, B dk firk gSA’

A @ B dk vFkZ gS ‘A, B dk iq=k gSA’

A % B dk vFkZ gS ‘A, B dk ifr gSA’

A + B dk vFkZ gS ‘A, B dh ek¡ gSA’

;fn A & B # C & D @ E % F + G gS] rks D fdl izdkj G ls lacafèkr gS\

(a) Brother  / HkkbZ (b) Father / firk

(c) Son  / iq=k (d) Son-in-law / nkekn

37. If A ÷ B means that A is the mother of B, A – B means

that A is the father of B, A + B means that A is the sister

of B, then which of the following expression shows that

P is the mother of R?

;fn A ÷ B dk vFkZ gS A, B dh ek¡ gS, A – B dk vFkZ gS A, B dk firk
gS, A + B dk vFkZ gS A, B dh cgu gS] rks fuEu esa ls dkSu lk O;atd
;g n'kkZrk gS fd P, R dh ek¡ gS\
(a) P + Q – R (b) P ÷ Q + R

(c) P – R + Q (d) Q + P – R

38. A # B means ‘A is the brother of B.’

A @ B means ‘A is the son of B.’

A & B means ‘A is the wife of B.’

A % B means ‘A is the mother of B.’

If X @ Y & Z # U & W @ V, then how is U related to V?

A # B  dk vFkZ gS ‘A, B dk HkkbZ gSA’
A @ B dk vFkZ gS ‘A, B dk iq=k gSA’
A & B dk vFkZ gS ‘A, B dh iRuh gSA’
A % B dk vFkZ gS ‘A, B dh ek¡ gSA’

;fn X @ Y & Z # U & W @ V gS] rks U, V ls fdl izdkj lacaf/r gS\

(a) Sister / cgu
(b) Daughter-in-law / iq=ko/q
(c) Daughter / iq=kh
(d) Wife / iRuh

39. If A × B means that A is the father of B, A + B means
that A is the mother of B, A – B means that A is the
brother of B then which of the following expression shows

that Q is the brother of P?

;fn A × B dk vFkZ gS] A, B dk firk gS, A + B dk vFkZ gS] A , B dh
ekrk gS, A – B dk vFkZ gS] A, B dk HkkbZ gS] rks fuEufyf[kr esa ls dkSu&lk
O;atd ;g n'kkZrk gS fd Q, P dk HkkbZ gS\
(a)  P + Q – R (b) P – Q + R

(c) P × R – Q (d) P – Q × R

40.  A # B means ‘A is the sister of B’.

A @ B means ‘A is the son of B’.

A & B means ‘A is the father of B’.

A % B means ‘A is the mother of B’.

If W & Q # T & Y @ M % K, then how is W related to K?

 A # B dk vFkZ gS ‘A, B dh cgu gS’.
A @ B dk vFkZ gS ‘A, B dk csVk gSA’
A & B dk vFkZ gS ‘A, B dk firk gSA’
A % B dk vFkZ gS ‘A, B dh ek¡ gSA’

;fn W & Q # T & Y @ M % K gks] rks W, K ls fdl izdkj
lacaf/r gS?

(a)  Mother’s father / ukuk (b) Brother / HkkbZ

(c) Father’s father / nknk (d) Father / firk

41. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If D @ N @ H & Y @ F % V, then how is N related to F

‘A # B’ dk vFkZ gS ‘A, B dk HkkbZ gS’
‘A @ B’ dk vFkZ gS ‘A, B dh iq=kh gS’A
‘A & B’ dk vFkZ gS ‘A, B ds ifr gSa’A
‘A % B’ dk vFkZ gS ‘A, B dh iRuh gSa’A

;fn D @ N @ H & Y @ F % V gS] rks N, F ls fdl izdkj lacaf/r gS\

(a) Son’s wife / iq=ko/q

(b) Daughter / iq=kh

(c) Daughter’s daughter / iq=kh dh iq=kh

(d) Sister’s daughter / Hkkath

42. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If W % D # G @ B & M @ I, then how is D related to M?

‘A # B’ dk vFkZ gS ‘A, B dk HkkbZ gS’A
‘A @ B’ dk vFkZ gS ‘A, B dh iq=kh gS’A
‘A & B’ dk vFkZ gS ‘A, B dk ifr gS’A
‘A % B’ dk vFkZ gS ‘A, B dh iRuh gS’A

;fn W % D # G @ B & M @ I gS] rks D, M ls fdl izdkj
lacaf/r gS\

(a) Father’s father / nknkth (b) Father / firk

(c) Grandson / iksrk (d) Son / iq=k

43. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If S % D # F @ G & H @ J, then how is F related to H?
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‘A # B’ dk vFkZ gS ‘A, B dk HkkbZ gS’A
‘A @ B’ dk vFkZ gS  ‘A, B dh iq=kh gS’A
‘A & B’ dk vFkZ gS  ‘A, B dk ifr gS’A
‘A % B’ dk vFkZ gS  ‘A, B dh iRuh gS’A

;fn S % D # F @ G & H @ J gS] rks F, H ls fdl izdkj lacaf/r gS\

(a) Daughter / iq=kh

(b) Mother / ek¡

(c) Daughter’s daughter / csVh dh CksVh

(d) Son’s wife / iq=ko/q

44. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If D @ N @ H & Y @ F % V, then how is V related to H?

‘A # B’ dk vFkZ gS ‘A, B dk HkkbZ gS’A

‘A @ B’ dk vFkZ gS ‘A, B dh iq=kh gS’A

‘A & B’ dk vFkZ gS ‘A, B dk ifr gS’A

‘A % B’ dk vFkZ gS ‘A, B dh iRuh gS’A

;fn D @ N @ H & Y @ F % V gS] rks V, H ls fdl izdkj lacaf/r gS\

(a) Father’s father / nknk

(b) Father / firk

(c) Son-in-law / nkekn

(d) Wife’s father / iRuh ds firk @ llqj

45. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If D @ N @ H & Y @ F % V, then how is Y related to D?

‘A # B’ dk vFkZ gS 'A, B dk HkkbZ gS'A
‘A @ B’ dk vFkZ gS 'A, B dh iq=kh gS'A
‘A & B’ dk vFkZ gS 'A, B dk ifr gS'A
‘A % B’ dk vFkZ gS 'A, B dh iRuh gS'A
(a) Mother/ekrk (b) Husband's Mother/lkl

(c) Father's Sister/cqvk (d) Mother's Mother/ukuh

46. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If S % D # F @ G & H @ J, then how is F related to J?

‘A # B’ dk vFkZ gS ‘A, B dk HkkbZ gS'A
‘A @ B’ dk vFkZ gS ‘A, B dh iq=kh gS'A
‘A & B’ dk vFkZ gS ‘A, B dk ifr gS'A
‘A % B’ dk vFkZ gS ‘A, B dh iRuh gS'A
;fn S% D # F @ G & H @ J gS] rks F, J ls fdl izdkj lacaf/r gS\
(a) Daughter/iq=kh

(b) Daughter's Daughter/iq=kh dh iq=kh

(c) Sister's Daughter/Hkkath

(d) Son's Wife/iq=ko/w

47. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If D @ N @ H & Y @ F % V, then how is Y related to D?

‘A # B’ dk vFkZ gS 'A, B dk HkkbZ gS'A
‘A @ B’ dk vFkZ gS 'A, B dh iq=kh gS'A

‘A & B’ dk vFkZ gS 'A, B dk ifr gS'A

‘A % B’ dk vFkZ gS 'A, B dh iRuh gS'A

;fn D @ N @ H & Y @ F % V gS] rks Y, D ls fdl izdkj
lacaf/r gS\

(a) Mother’s mother/ukuh

(b) Sister’s daughter/Hkkath

(c) Mother/ek¡

(d) Daughter’s daughter/iq=kh dh iq=kh

48. ‘A # B’ means ‘A is the brother of B’.

‘A @ B’ means ‘A is the daughter of B’.

‘A & B’ means ‘A is the husband of B’.

‘A % B’ means ‘A is the wife of B’.

If Z % X # C @ V & B @ N, then how is Z related to B?

‘A # B’ dk vFkZ gS 'A, B dk HkkbZ gS'A
‘A @ B’ dk vFkZ gS 'A, B dh iq=kh gS'A
‘A & B’ dk vFkZ gS 'A, B dk ifr gS'A
‘A % B’ dk vFkZ gS 'A, B dh iRuh gS'A

;fn Z % X # C @ V & B @ N gS] rks Z, B ls fdl izdkj lacaf/r gS\

(a)  Son’s wife/iq=ko/q (b) Daughter/iq=kh

(c) Husband’s mother/lkl (d) Mother/ekrk

49. If A × B means that A is the brother of B, A – B means
that A is the sister of B, A + B means that A is the father
of B then which of the following expression shows that
P is the paternal aunt of R?

;fn A × B dk vFkZ gS fd A, B dk HkkbZ gS] A – B dk vFkZ gS fd A,

B dh cgu gS] A + B dk vFkZ gS fd A, B dk firk gS] rks fuEufyf[kr
esa ls dkSu&lk O;atd ;g fu:fir djrk gS] fd P, R dh cqvk@pkph gS\
(a) P – Q × R (b) P – Q + R

(c) P × Q + R (d) P + Q – R

50. If A × B means that A is the father of B, A + B means
that A is the mother of B, A ÷ B means that A is the
brother of B then which of the following expression shows
that Q is the son of P?

;fn A × B dk vFkZ gS fd A, B dk firk gS] A + B dk vFkZ gS fd A,

B dh ek¡ gS] A ÷ B dk vFkZ gS fd A, B dk HkkbZ gS] rks fuEufyf[kr esa
ls dkSu&lk O;atd ;g fu:fir djrk gS] fd Q, P dk csVk gS\
(a) Q + P × R (b) P + Q × R

(c) R × Q + P (d) P + Q ÷ R

51. A @ B means ‘A is the sister of B’.

A & B means ‘A is the brother of B’.

A # B means ‘A is the wife of B’.

A ^ B means ‘A is the mother of B’

A + B means ‘A is the father of B’.

If A + G & I + R @ S @ T # U & V, then which of the

following statements is NOT correct?
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A @ B dk vFkZ gS ‘A, B dh cgu gSA’.

A & B dk vFkZ gS ‘A, B dk HkkbZ gSA’

A # B dk vFkZ gS ‘A, B dh iRuh gSA’
A ^ B dk vFkZ gS ‘A, B dh ek¡ gSA’

A + B dk vFkZ gS ‘A, B dk firk gSA’

;fn A + G & I + R @ S @ T # U & V gS rks fuEufyf[kr esa ls dkSu lk
dFku lgh ugha gS\

(a) I is the father-in-law of U./ I, U dk llqj gSA

(b) A is the maternal grandfather of T./ A, T dk ukuk gSA

(c) G is the brother of I. / G, I dk HkkbZ gSA

(d) R is the paternal granddaughter of A / R, A dh iksrh gSA

52. If A + B means that A is the father of B, A – B means
that A is the mother of B, A × B means that A is the
brother of B then which of the following expression shows
that Q is the son of P?

;fn A + B dk vFkZ gS fd A, B dk firk gS] A – B dk vFkZ gS fd A,

B dh ek¡ gS] A × B dk vFkZ gS fd A, B dk HkkbZ gS] rks fuEufyf[kr esa
ls dkSu&lk O;atd ;g fu:fir djrk gS] fd Q, P dk csVk gS\
(a) P × P – Q (b) P + Q – R

(c) P – Q × R (d) P – Q + R

53. If A + B means that A is the brother of B, A × B means
that A is the sister of B, A ÷ B means that A is the father
of B then which of the following expression shows that
P is the brother of R?

;fn A + B dk vFkZ gS A, B dk HkkbZ gS]  A × B dk vFkZ gS A, B dh cgu
gS]  A ÷ B dk vFkZ gS A, B  dk firk gS] rks fuEufyf[kr esa ls dkSu&lk
O;atd ;g iznf'kZr djrk gS fd P, R dk HkkbZ gS\
(a) P + Q ÷ R (b) P + Q × R

(c) P × Q + R (d) P + R × Q

54. If A × B means that A is the father of B, A –B means that
A is the mother of B, A ÷ B means that A is the brother
of B then which of the following expression shows that
P is the father of R?

;fn A × B dk vFkZ gS A, B dk firk gS]  A – B dk vFkZ gS A, B dh
ek¡ gS]  A ÷ B dk vFkZ gS A, B  dk HkkbZ gS] rks fuEufyf[kr esa ls dkSu&lk
O;atd ;g iznf'kZr djrk gS fd P, R dk firk gS\
(a) P ÷ Q × R (b) P × Q ÷ R

(c) P × Q – R (d) P × R ÷ Q

55. ‘A @ B’ means ‘A is the husband of B’.

‘A & B’ means ‘A is the father of B’.

‘A # B’ means ‘B is the son of A’.

If K # L & M @ N # P, then how is P related to K?

‘A @ B’ dk vFkZ gS ‘A, B dk ifr gSA’

‘A & B’ dk vFkZ gS ‘A, B dk firk gSA’

‘A # B’ dk vFkZ gS ‘B, A dk csVk gSA’

;fn K # L & M @ N # P gS] rks P dk K ls D;k laca/ gS\

(a) Father / firk (b) Son / csVk

(c) Son's son / iksrk (d) Son's son's son / ijiksrk

56. If P + Q means that P is the mother of Q, P ÷ Q means

that P is the father of Q, P – Q means that P is the sister

of Q, then which of the following expression shows that

A is the maternal grandfather of C?

;fn P + Q dk vFkZ gS P, Q dh ek¡ gS] P ÷ Q dk vFkZ gS P, Q dk firk
gS]  P – Q dk vFkZ gS P, Q  dh cgu gS] rks fuEufyf[kr esa ls dkSu&lk
O;atd ;g iznf'kZr djrk gS fd A, C dk ukuk gS\
(a) B ÷ A + C (b) A – B ÷ C

(c) A + B ÷ C (d) A ÷ B + C

57. If A × B means that A is the brother of B, A – B means

that A is the sister of B, A + B means that A is the father

of B then which of the following expression shows that

P is the father of R?

;fn A × B dk vFkZ A, B dk HkkbZ gS, A – B dk vFkZ A, B dh cgu gS,
A + B dk vFkZ A, B ds firk gSa] rks fuEufyf[kr esa ls dkSu&lk O;atd
;g fu:fir djrk gS fd P, R ds firk gSa\
(a) P + Q × R (b) P × Q + R

(c) P + Q ÷ R (d) P – Q × R

58. If P × Q means that P is the mother of Q, P + Q means

that P is the father of Q, P ÷ Q means that P is the sister

of Q, then which of the following expression shows that

A is the maternal aunt of C?

;fn P × Q dk vFkZ P, Q dh ek¡ gS, P + Q dk vFkZ P, Q ds firk gSa,
P ÷ Q dk vFkZ P, Q dh cgu gS] rks fuEufyf[kr esa ls dkSu&lk O;atd
;g fu:fir djrk gS fd A, C dh ekSlh gS\
(a) A ÷ B + C (b) C × B ÷ A

(c) A ÷ B × C (d) B ÷ C × A

59. A – B means ‘A is the mother of B’

A * B means ‘A is the husband of B’

A % B means ‘A is the brother of B’

A $ B means ‘A is the sister of B’

If I * J – K % L $ M * N, then how is I related to N?

A – B dk vFkZ ‘A, B dh ek¡ gSA’
A * B dk vFkZ ‘A, B dk ifr gSA’
A % B dk vFkZ ‘A, B dk HkkbZ gSA’
A $ B dk vFkZ ‘A, B dh cgu gSA’

;fn I * J – K % L $ M * N gks] rks I, N ls fdl izdkj lacaf/r gS\

(a) Brother-in-law / thtk@lkyk

(b) Father-in-law / llqj

(c) Brother / HkkbZ

(d) Father / firk

60. P + Q means ‘P is the father of Q’

P – Q means ‘P is the mother of Q’

P * Q means ‘P is the sister of Q’

P % Q means ‘P is the brother of Q’

If A – B % C * D + E, then how is A related to E?

P + Q dk vFkZ ‘P, Q ds firk gSaA’

P – Q dk vFkZ ‘P, Q dh ek¡ gSA’

P * Q dk vFkZ ‘P, Q dh cgu gSA’

P % Q dk vFkZ ‘P, Q dk HkkbZ gSA’

;fn A – B % C * D + E gks] rks A, E ls fdl izdkj lacaf/r gS\

(a) Mother / ek¡

(b) Father’s sister / cqvk

(c) Sister / cgu

(d) Father’s mother / nknh
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61. If S – T means that S is the mother of T, S × T means
that S is the father of T, S + T means that S is the sister
of T, then which of the following expression shows that
P is the mother of R?

;fn S – T dk vFkZ S, T dh ek¡ gS, S × T dk vFkZ S, T ds firk gSa, S
+ T dk vFkZ S, T dh cgu gS] rks fuEufyf[kr esa ls dkSu&lk O;atd ;g
fu:fir djrk gS fd P, R dh ek¡ gS\
(a) Q – P + R (b) P – Q + R

(c) P × Q + R (d) R + Q – P

62.  If A × B means that A is the father of B, A – B means
that A is the mother of B, A + B means that A is the
brother of B then which of the following expression shows
that Q is the son of P?

;fn A × B dk vFkZ gS fd A, B ds firk gSa, A – B dk vFkZ gS fd A,

B dh ekrk gS, A + B dk vFkZ gS fd A, B dk HkkbZ gS] rks fuEufyf[kr
esa ls dkSu&lk O;atd ;g fu:fir djrk gS fd Q, P dk iq=k gS\
(a) P × Q + R (b) Q × P + R

(c) P + R × Q (d) P × Q – R

63. ‘X $ Y’ means ‘X is the son of Y’

‘X @ Y’ means ‘X is the husband of Y’

‘X * Y’ means ‘X is the sister of Y’

‘X # Y’ means ‘X is the mother of Y’

If ‘P $ Q # V @ B’, how is P related to B?

‘X $ Y’ dk vFkZ gS ^X, Y dk iq=k gS*

‘X @ Y’ dk vFkZ gS ‘X, Y dk ifr gS*

‘X * Y’ dk vFkZ gS ^X, Y dh cgu gS*

‘X # Y’ dk vFkZ gS ^X, Y dh eka gS*

;fn ‘P $ Q # V @ B’, P, B ls fdl çdkj lacaf/r gS\

(a) Father/firk

(b) Husband’s brother/ifr dk HkkbZ

(c) Mother/ek¡

(d) Son/csVk
64. A man said to a lady, “Your mother’s father-in-law is my

father and I am the only son”.How is that man related to
that lady?

,d vkneh us ,d vkSjr ls dgk] ^^rqEgkjh ek¡ ds llqj esjs firk gSa vkSj
eSa bdykSrk csVk gw¡A** og vkneh ml vkSjr ls dSls lacaf/r gS\

(a) Father-in-law/llqj (b) Father/firk

(c) Brother/HkkbZ (d) Son/csVk
65. ‘R = S’ means ‘R is the mother of S’.

‘R @ S’ means ‘R is the father of S’.

‘R × S’ means ‘R is the father’s sister of S’.

‘R # S’ means ‘R is the sister of S’.

‘R $ S’ means ‘R is the daughter of S’.

‘R * S’ means ‘R is the brother of S’.

How is Z related to Y in the following expression?

‘R = S’ dk vFkZ gS ‘R, S dh ek¡ gS*A

‘R @ S’ dk vFkZ gS ‘R, S dk firk gS*A

‘R × S’ dk vFkZ gS ‘R, S ds firk dh cgu gS*A

‘R # S’ dk vFkZ gS ‘R, S dh cgu gS*A

‘R $ S’ dk vFkZ gS ‘R, S dh iq=kh gS*A

‘R * S’ dk vFkZ gS ‘R, S dk HkkbZ gS*A

fuEufyf•r O;atd esa Z, Y ls fdl çdkj lacaf/r gS\
V × Y $ X @ W * A $ Z

(a) Mother/ek¡

(b) Sister/cgu

(c) Mother’s sister/ek¡ dh cgu

(d) Father’s sister/firk dh cgu
66. ‘B % D’ means ‘B is the brother of D’.

‘B & D’ means ‘B is the mother of D’.

‘B × D’ means ‘B is the husband of D’.

‘B $ D’ means ‘B is the son of D’.

‘B # D’ means ‘B is the sister of D’.

‘B @ D’ means ‘B is the father of D’.

Which of the following statements is correct regarding the
given  expression?

‘B % D’ dk vFkZ gS ‘B, D dk HkkbZ gSA

‘B & D’ dk vFkZ gS ‘B, D dh ek¡ gSA

‘B × D’ dk vFkZ gS ‘B, D dk ifr gSA

‘B # D’ dk vFkZ gS ‘B, D dh cgu  gSA

‘B $ D’ dk vFkZ gS ‘B, D dk iq=k gSA

‘B @ D’ dk vFkZ gS ‘B, D dk firk gSA

nh xbZ vfHkO;fÙkQ ds laca/ esa fuEufyf•r esa ls dkSu&lk dFku lgh gS\
P % Q $ S # R % U × T

(a) P is the son of T./ P, T dk iq=k gSA

(b) S is the brother-in-law of T. / S, T dk lkyk gS

(c) P is the daughter of T. / P, T  dh iq=kh gSA

(d) U is the mother’s brother of P. / U, P dh ekrk dk HkkbZ gSA
67. A # B means ‘A is the father of B’.

A @ B means ‘A is the son of B’.

A & B means ‘A is the sister of B’.

A % B means ‘A is the wife of B’.

If W # Q @ T & Y @ M % K, then how is K related to W?

A # B dk vFkZ gS ‘A, B dk firk gS*A

A @ B dk vFkZ gS ‘A, B dk iq=k gS*A

A & B dk vFkZ gS ‘A, B dh cgu gS*A

A % B dk vFkZ gS ‘A, B dh iRuh gS*A

;fn W # Q @ T & Y @ M % K, rks K, W ls fdl çdkj lacaf/r gS\

(a) Father / firk

(b) Brother / HkkbZ

(c) Father-in-law / llqj

(d) Brother-in-law / thtk@lkyk
68. ‘B & D’ means ‘B is the brother of D’.

‘B × D’ means ‘B is the mother of D’.

‘B # D’ means ‘B is the wife of D’.

‘B $ D’ means ‘B is the son of D’.

‘B @ D’ means ‘B is the mother of D’.

How is B related to G in the following expression?

‘B & D’ dk vFkZ gS] ‘B, D dk HkkbZ gSA

‘B × D’ dk vFkZ gS] ‘B, D dh ek¡ gSA

‘B # D’ dk vFkZ gS] ‘B, D dh iRuh gSA

‘B $ D’ dk vFkZ gS] ‘B, D dk iq=k gSA
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‘B @ D’ dk vFkZ gS] ‘B, D dh ek¡ gSA

fuEufyf•r O;atd esa B, G ls fdl çdkj lacaf/r gS\
A × B # F $ C @ E # G

(a) Sibling / lgksnj

(b) Mother/ ek¡

(c) Wife’s brother’s wife / iRuh ds HkkbZ dh iRuh

(d) Aunt / pkph

69. There are six children playing ludo, namely 1, 2, 3, 4, 5,
and 6. 1 and 5 are brothers. 6 is the sister of 5. 3 is the
only son of 1’s father’s brother. 2 and 4 are the daughters
of the only brother of 3’s father. How is 4 related to 1?

ywMks •syus okys Ng cPps gSa] ftuds uke 1] 2] 3] 4] 5 vkSj 6 gSaA 1 vkSj
5 vkil esa HkkbZ gSaA 6] 5 dh cgu gSA 3] 1 ds firk ds HkkbZ dk bdykSrk
iq=k gSA 2 vkSj 4] 3 ds firk ds bdykSrs HkkbZ dh csfV;k¡ gSaA 4] 1 ls dSls
lacaf/r gS\
(a) Cousin / ppsjk (b) Sister / cgu

(c) Niece / Hkrhth (d) Uncle / pkpk

70. Roshni met a person in the market, who is the only son
of her mother’s father’s wife. How is that person’s wife
related to Roshni?

jks'kuh dh eqykdkr cktkj esa ,d O;fÙkQ ls gqbZ] tks mldh eka ds firk dh
iRuh dk bdykSrk csVk gSA ml O;fÙkQ dh iRuh dk jks'kuh ls D;k laca/ gS\
(a) Sister / cgu

(b) Daughter / iq=kh

(c) Mother’s brother’s wife / ekrk ds HkkbZ dh iRuh

(d) Mother / ek¡
71. ‘Q * R’ means ‘Q is the mother of R’.

‘Q + R’ means ‘Q is the husband of R’

‘Q × R’ means ‘Q is the sister of R’.

‘Q ÷ R’ means ‘Q is the son of R’.

If ‘D × O ÷ E + Y’, how is D related to Y?

‘Q * R’ dk vFkZ gS] ‘Q, R dh ek¡ gS*A

‘Q + R’ dk vFkZ gS] ‘Q, R dk ifr gS*A

‘Q × R’ dk vFkZ gS] ‘Q, R dh cgu gS*A

‘Q ÷ R’ dk vFkZ gS] ‘Q, R dk iq=k gS*A

;fn ‘D × O ÷ E + Y’, rks ‘D, R ls fdl izdkj lacaf/r gS*A

(a) Daughter-in-law / cgq (b) Daughter / iq=kh

(c) Brother / HkkbZ (d) Sister / cgu

72. A # B means ‘A is the brother of B’.

A @ B means ‘A is the sister of B’.

A & B means ‘A is the husband of B’.

A % B means ‘A is the daughter of B’.

If W # Q @ T & Y @ M % K # L, then how is K related to
T?

A # B dk vFkZ gS] ‘A, B dk HkkbZ gS*A

A @ B dk vFkZ gS] ‘A, B dh cgu gS*A

A & B dk vFkZ gS] ‘A, B dk ifr gS*A

A % B dk vFkZ gS] ‘A, B dh iq=kh gS*A

;fn W # Q @ T & Y @ M % K # L rks  K, T ls fdl izdkj lacafèkr
gSA

(a) Wife’s father / iRuh ds firk

(b) Wife’s brother / iRuh dk HkkbZ

(c) Brother / HkkbZ

(d) Father / firk

73. ‘P # Q’ means ‘P is the husband of Q’.

‘P $ Q’ means ‘P is the son of Q’.

‘P @ Q’ means ‘P is the brother of Q’.

‘P % Q’ means ‘P is the father of Q’.

‘P & Q’ means ‘P is the mother of Q’.

‘P × Q’ means ‘P is the wife of Q’.

Which of the following statements is correct regarding
the given expression?

‘P # Q’ dk vFkZ gS ‘P, Q dk ifr gS*A

‘P $ Q’ dk vFkZ gS ‘P, Q dk iq=k gS*A

‘P @ Q’ dk vFkZ gS ‘P, Q dk HkkbZ gS*A

‘P % Q’ dk vFkZ gS ‘P, Q dk firk gS*A

‘P & Q’ dk vFkZ gS ‘P, Q dh ek¡ gS*A

‘P × Q’ dk vFkZ gS ‘P, Q dh iRuh gS*A

nh xbZ vfHkO;fÙkQ ds laca/ esa fuEufyf•r esa ls dkSu&lk dFku lgh gS\
M × O $ N @ Q % R # S

(a) M is the brother of R. / M, R dk HkkbZ gSA

(b) N is the brother of R’s father. / N, R ds firk dk HkkbZ gSA

(c) O is the daughter of Q. / O, Q dh iq=kh gSA

(d) M is the daughter-in-law of R. / M, R dh cgq gSA

74. A # B means ‘A is the father of B’.

A @ B means ‘A is the daughter of B’.

A & B means ‘A is the sister of B’.

A % B means ‘A is the wife of B’.

If W # Q @ T & Y @ M % K, then how is K related to T?

A # B dk vFkZ gS ^A, B dk firk gS*A

A @ B dk vFkZ gS ^A, B dh iq=kh gS*A

A vkSj A dk vFkZ gS ^A, B dh cgu gS*A

A % B dk vFkZ gS ^A, B dh iRuh gS*A

;fn W # Q @ T & Y @ M % K, rks K, T ls fdl çdkj lacaf/r gS\

(a) Father-in-law / llqj

(b) Father / firk

(c) Brother-in-law / cguksbZ

(d) Brother / HkkbZ

75. ‘A & Z’ means ‘A is the father of Z’.

‘A × Z’ means ‘A is the sister of Z’.

‘A # Z’ means ‘A is the mother of Z’.

‘A $ Z’ means ‘A is the daughter of Z’.

‘A % Z’ means ‘A is the son of Z’.

‘A @ Z’ means ‘A is the daughter-in-law of Z’.

How is V related to S in the following expression?

‘A & Z’ dk vFkZ gS ‘A, Z dk firk gS*A

‘A × Z’ dk vFkZ gS ^A, Z dh cgu gS*A

‘A # Z’ dk vFkZ gS ^A, Z dh eka gS*A

‘A $ Z’ dk vFkZ gS ^A, Z dh iq=kh gS*A
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‘A % Z’ dk vFkZ gS ^A, Z dk iq=k gS*A

^A @ Z’ dk vFkZ gS ^A, Z dh cgw gS*A

fuEufyf•r O;atd esa V, S ls fdl çdkj lacaf/r gS\
S $ T # W & U % × @ V

(a) Brother/HkkbZ (b) Son / csVk

(c) Uncle / pkpk (d) Father/ firk

76. Pointing to the portrait of a boy Mohan said, “He is the
brother of my mother’s husband.” How is the boy related
to Mohan?

,d yM+ds dh rLohj dh vksj b'kkjk djrs gq, eksgu us dgk] ^og esjh
ek¡ ds ifr dk HkkbZ gSA* og yM+dk eksgu ls fdl izdkj lacaf/r gS\
(a) Father-in-law/llqj (b) Nephew/Hkrhtk

(c) Son/iq=k (d) Uncle/pkpk

77. Navneet pointed to a photograph of a lady and said,
“She is the sister of my sister’s mother”. How is that
lady related to Navneet?

uouhr us ,d efgyk dh iQksVks dh vksj b'kkjk djrs gq, dgk] ¶og esjh
cgu dh ek¡ dh cgu gSA¸ ml efgyk dk uouhr ls D;k laca/ gS\
(a) Maternal aunt/ekSlh

(b) Paternal aunt/cqvk

(c) Grandmother/nknh

(d) Mother/ek¡

78. Q is the sister of R. P is the father of Q. S is the son of T.
R is the brother of S. How is T related to P?

Q, R dh cgu gSA P, Q dk firk gSA S, T dk csVk gSA R, S dk HkkbZ
gS T dk P ls D;k laca/ gS\
(a) Daughter-in-law/iq=ko/w (b) Daughter/csVh

(c) Niece/Hkrhth (d) Wife/iRuh

79. Aman is the brother of Baman and Chaman. Baman is
Emily’s mother. Farhan is Aman’s father then which of
the following is definitely true?

veu] ceu vkSj peu dk HkkbZ gSA ceu ,feyh dk ek¡ gSA iQjgku] veu
ds firk gSa rks fuEufyf[kr esa ls dkSu&lk fuf'pr :i ls lR; gS\
(a) Baman is sister of Chaman./ ceu] peu dh cgu gSA

(b) Aman and Emily are siblings. / veu vkSj ,feyh HkkbZ&cgu gSaA

(c) Chaman is brother of Aman. / peu veu dk HkkbZ gSA

(d) Chaman is male/peu iq#"k gSA

80. Ram pointed to a photograph and said, “The lady in the
photograph is the wife of the only son of the mother of
my father’s sister.” How is the lady related to Ram?

jke us ,d rLohj dh vksj b'kkjk djrs gq, dgk] ¶rLohj esa fn[k jgh
efgyk esjs firk dh cgu dh ek¡ ds bdykSrs csVs dh iRuh gSA¸ efgyk dk
jke ls D;k laca/ gS\
(a) Sister/cgu (b) Daughter/csVh

(c) Wife/iRuh (d) Mother/ek¡
81. Ashok’s brother’s sister is the wife of Ram’s son Rahul.

How is Ashok related to Rahul’s daughter?

v'kksd ds HkkbZ dh cgu jke ds csVs jkgqy dh iRuh gSA v'kksd dk jkgqy
dh csVh ls D;k laca/ gS\
(a) Son/csVk

(b) Brother/HkkbZ

(c) Mother’s brother/ek¡ dk HkkbZ

(d) Father’s brother/firk dk HkkbZ

82. M is the brother of N. L is the father of M. N is the sister
of O. O is the daughter of P. How is P related to N?

M, N dk HkkbZ gSA L, M dk firk gSA N, O dh cgu gSA O, P dh csVh
gSA P dk N ls D;k laca/ gS\
(a) Paternal Grandmother/nknh

(b) Sister/cgu
(c) Maternal Aunt/ekSlh
(d) Mother/ek¡

83. E is the brother of F. D is the wife of E. G is the father of
H. F is the sister of G. How is E related to G?

E, F dk HkkbZ gSA D, E dh iRuh gSA G, H dk firk gSA F, G dh cgu
gSA E, G ls fdl izdkj lacaf/r gS\
(a) Brother/HkkbZ (b) Son/csVk

(c) Brother-in-law/lkyk (d) Father/firk

84. Pointing to a photo of a boy, Shreya said, “He is the only
son of the man who is the father of my father’s only
son’s son”. How that boy is related to Shreya?

,d yM+ds dh rLohj dh vksj b'kkjk djrs gq, Js;k us dgk] ¶og ml
vkneh dk bdykSrk csVk gS tks esjs firk ds bdykSrs csVs ds csVs dk firk
gSA¸ og yM+dk Js;k ls dSls lacaf/r gS\
(a) Father / firk

(b) Nephew / Hkrhtk
(c) Brother-in-law / thtk] lkyk

(d) Brother / HkkbZ

85. Manisha’s sister Sakshi is the wife of Subham. Subham
is the brother of Darshan. Akash, the son of Manisha,
has a sister Rekha who is the daughter of Darshan.
Rekha’s father Darshan’s mother is Saloni. How is Saloni
related to Sakshi?

euh"kk dh cgu lk{kh] 'kqHke dh iRuh gSA 'kqHke n'kZu dk HkkbZ gSA euh"kk
ds csVs vkdk'k dh ,d cgu js[kk gS] tks n'kZu dh csVh gSA js[kk ds firk
n'kZu dh ek¡ lyksuh gSA lyksuh dk lk{kh ls D;k laca/ gS\
(a) Daughter-in-law / iq=ko/w

(b) Sister / cgu
(c) Mother-in-law / lkl

(d) Daughter / csVh

86. Pointing to a photograph of a man Riya said, “He is the
father of the only son of my mother.” How is Riya related
to that man?

fj;k us ,d vkneh dh rLohj dh vksj b'kkjk djrs gq, dgk] ¶og esjh
ek¡ ds bdykSrs csVs dk firk gSA¸ fj;k ml vkneh ls fdl izdkj lacafèkr gS\
(a) Niece / Hkkath

(b) Mother / ek¡
(c) Father / firk
(d) Daughter/csVh

87. Pointing towards a photo of a man, Shivang said, “He is
the father of my mother’s brother”. How that man is
related to Shivang?

,d iQksVks esa ,d vkneh dh vksj b'kkjk djrs gq, f'kokax us dgk] ¶og
esjh ek¡ ds HkkbZ dk firk gSA¸ ml vkneh dk f'kokax ls D;k laca/ gS\
(a) Paternal Grandfather / nknk
(b) Maternal Grandfather / ukuk

(c) Father-in-law / llqj

(d) Nephew / Hkkatk
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88. Pointing towards a man, Parkhi said, “He is the brother
of my son’s mother”. How that man is related to Parkhi’s
husband?

,d O;fDr ds rjg b'kkjk djrs gq, ikj[kh dgrh gS fd ¶og esjs csVs dh
ek¡ dk HkkbZ gSA¸ ml O;fDr dk ikj[kh ds ifr ls D;k laca/ gS\
(a)  Son / csVk (b) Maternal Uncle / ekek

(c) Nephew / Hkkatk (d) Brother-in-law / lkyk

89. Bhanu is the sister of Chirag. Aryan is the father of
Bhanu. Chirag is the brother of Dewan. Dewan is the
husband of Esha. How is Esha related to Aryan?

Hkkuw] fpjkx dh cgu gSA vk;Zu] Hkkuw ds firk gSaA fpjkx] nhoku dk HkkbZ
gSA nhoku] bZ'kk ds ifr gSaA bZ'kk vk;Zu ls fdl izdkj lacaf/r gS\
(a)  Daughter / csVh

(b) Sister / cgu

(c) Niece / Hkkath

(d) Daughter-in-law / iq=ko/w

90. If T + U means, T is the mother of U, T – U means, T is
the husband of U, T ÷ U means, T is the son of U and T
× U means, T is the sister of U. Then M ÷ N + O - P, how
P is related to N.

;fn T + U dk vFkZ gS T, U dh ekrk gS] T - U dk vFkZ gS T, U dk
ifr gS] T ÷ U dk vFkZ gS fd T, U dk iq=k gS vkSj T × U dk vFkZ gS
T, U dh cgu gSA rks M ÷ N + O - P, P fdl izdkj N ls lacafèkr gS\
(a) Daughter/csVh

(b) Daughter-in-law / iq=ko/w

(c) Father-in-law/llqj

(d) Sister/cgu

91. If Penny is the mother of the daughter of Charlie’s
brother, then how is Penny related to Charlie?

;fn isuh pkyhZ ds HkkbZ dh csVh dh ek¡ gS] rks isuh dk pkyhZ ls D;k laca/
gS\
(a) Sister/cgu

(b) Brother’s wife/HkkHkh

(c) Daughter-in-law/cgw

(d) Mother/ek¡

92. Anjali is the sister of Mukesh. Nikhil has two children
and is the son-in-law of Archana. Anjali is the maternal
granddaughter of Archana. Archana has only one child.
How is Nikhil’s wife related to Archana?

vatyh eqds'k dh cgu gSA fuf[ky ds nks cPps gSa vkSj og vpZuk dk
nkekn gSA vatyh vpZuk dh ukfru gSA vpZuk dk dsoy ,d cPpk gSA
fuf[ky dh iRuh dk vpZuk ls D;k laca/ gS\
(a) Daughter/csVh (b) Sister/cgu

(c) Mother/ek¡ (d) Granddaughter/iksrh

93. H is the brother of I. G is the brother of H. I is the son of
J. J is the sister of K. How is J related to G?

H, I dk HkkbZ gSA G, H dk HkkbZ gSA I, J dk csVk gSA J, K dh cgu gSA
J, G ls fdl izdkj lacafèkr gS\

(a) Mother-in-law/lkl

(b) Daughter/csVh
(c) Paternal Aunt/pkph

(d) Mother/ek¡

94. Pointing towards a lady in a photo, Rinku said, “She is
my son’s sister’s mother”. How that lady is related to
Rinku?

,d iQksVks esa ,d efgyk dh vksj b'kkjk djrs gq, fjadw us dgk] ¶og esjs
csVs dh cgu dh ek¡ gS¸A ml efgyk dk fjadw ls D;k lacaèk gS\
(a) Daughter/csVh (b) Daughter-in-law/iq=ko/w

(c) Sister/cgu (d) Wife/iRuh

95. H is the sister of I. B is the mother of H. J is the daughter
of R. I is the sister of J. How is R related to H?

H, I dh cgu gSA B, H dh ek¡ gSA J, R dh iq=kh gSA I, J dh cgu gSA
R, H ls fdl izdkj lacaf/r gS\
(a) Maternal Uncle / ekek (b) Son-in-law / nkekn

(c) Father / firk (d) Paternal Grandfather / nknk

96. M is the father of L. R is the father of M. Q is the husband
of S. L is the brother of Q. How is S related to M?

M, L dk firk gSA R, M dk firk gSA Q, S dk ifr gSA L, Q dk HkkbZ
gSA S, M ls fdl izdkj lacaf/r gS\
(a) Mother/ek¡ (b) Daughter-in-law/iq=ko/w

(c) Niece/Hkkath (d) Daughter/csVh

97. Pointing towards a photo of a lady, Priya said, “She is
my brother’s only son’s mother”. How is that lady related
to Priya?

,d efgyk dh iQksVks dh vksj b'kkjk djrs gq, fiz;k us dgk] ¶og esjs HkkbZ
ds bdYkkSrs csVs dh ek¡ gŞ  og efgyk fiz;k ls fdl izdkj lacaf/r gS\
(a) Sister-in-law/cgu (b) Daughter-in-law/cgw

(c) Brother’s wife/HkkHkh (d) Mother/ek¡

98. If H is the daughter of R, R is the father of S, S is the son
of T, T is the daughter of N, then how is H related to N?

;fn H, R dh csVh gSA R, S dk firk gS] S, T dk csVk gS] T, N dh csVh
gS] rks H dk N ls D;k laca/ gS\
(a) Daughter’s daughter. / csVh dh csVh @ ufruh

(b) Niece / Hkkath

(c) Daughter / iq=kh

(d) Daughter-in-law / iq=ko/w

99. Pointing towards a photo of a girl, Suman said, “She is
the daughter of my brother’s father”. How that girl is
related to Suman? (Assuming its not a photo of self).

lqeu us ,d yM+dh dh iQksVks dh vksj b'kkjk djrs gq, dgk] ¶og esjs HkkbZ
ds firk dh csVh gŞ A ml yM+dh dk lqeu ls D;k laca/ gS\ (;g ekurs
gq, fd ml iQksVks esa lqeu ugha gS)
(a) Daughter / iq=kh (b) Niece / Hkkath

(c) Sister / cgu (d) Sister-in-law / HkkHkh

100.Mukesh’s sister is the wife of Ramesh. Ramesh is Rani’s
only brother. Ramesh’s father is Madhur. Sheetal is
Ramesh’s paternal grandmother. Rema is Sheetal’s
daughter-in-law. Ronit is Rani’s brother’s son. How is
Ronit related to Mukesh?

eqds'k dh cgu] jes'k dh iRuh gSA jes'k] jkuh dk bdykSrk HkkbZ gSA jes'k
ds firk e/qj gSaA 'khry] jes'k dh nknh gSaA jsek 'khry dh cgw gSA jksfur]
jkuh ds HkkbZ dk csVk gSA jksfur dk eqds'k ls D;k laca/ gS\
(a) Son / iq=k

(b) Brother / HkkbZ

(c) Brother-in-law / lkyk

(d) Nephew / Hkrhtk



Answer Key

1. (d) 2. (b) 3. (c) 4. (c) 5. (d) 6. (b) 7. (a) 8. (b) 9. (d) 10. (a)

11. (a) 12. (c) 13. (b) 14. (a) 15. (c) 16. (b) 17. (b) 18. (d) 19. (b) 20. (c)

21. (b) 22. (b) 23. (c) 24. (b) 25. (d) 26. (b) 27. (a) 28. (b) 29. (b) 30. (b)

31. (c) 32. (b) 33. (a) 34. (a) 35. (a) 36. (a) 37. (b) 38. (b) 39. (d) 40. (c)

41. (c) 42. (d) 43. (a) 44. (d) 45. (d) 46. (b) 47. (a) 48. (a) 49. (b) 50. (b)

51. (b) 52. (c) 53. (b) 54. (d) 55. (d) 56. (d) 57. (a) 58. (c) 59. (b) 60. (d)

61. (b) 62. (a) 63. (b) 64. (b) 65. (a) 66. (d) 67. (c) 68. (c) 69. (b) 70. (c)

71. (b) 72. (a) 73. (b) 74. (b) 75. (d) 76. (d) 77. (a) 78. (d) 79. (a) 80. (d)

81. (c) 82. (d) 83. (a) 84. (b) 85. (c) 86. (d) 87. (b) 88. (d) 89. (d) 90. (b)

91. (b) 92. (a) 93. (d) 94. (d) 95. (c) 96. (b) 97. (a) 98. (a) 99. (c) 100. (d)

Answer With Explanation

1. (d)

Shalini

+

++ +

–

Wife
–

boy

Shalini is sister of that boy.

2. (b) Father

Ranjana

Piyush

+

+

+

+
Son

ih;w"k] jatuk ds HkkbZ dk iq=k gSA
Piyush is nephew of Ranjana.

3. (c)

(i) (a) J C

K M R

+

+ –

–

(ii) (b) C J

M R

+–

K
+

(iii) (c) C J

K M R

+

+ –

–

Father

(iv) (c) C R

K M J

+

+ –

–

According to option (c)
J is the father of R.

4. (c)
Father

Karishma

Rashmi

– +

–

Reshmi is Niece of karishma.

5. (d)

Varun

Lady
–

+

+

– +

Varun is son of that lady.
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6. (b) D+

H
–

B
+

C+

F
–

G
+

E
—

C, G dk firk gS vkSj F, C dh ek¡ gSA
G is grandson of F.

7. (a) U R

T S P

Q

–

+ + –

–

R is father of T.

8. (b)
Father

Woman R

+

– + –

That woman is Reena’s Sister-in-law.

9. (d) Mahesh

Riva Maya

+

– + –
Akash

Ritu
+ –

Vansh

vkdk'k] egs'k dk iq=k gS vkSj ek;k] vkdk'k dh iRuh gSA
Maya is Mahesh’s daughter-in-law.

10. (a)

Arpita Pritam

Son

+–

+–

Arpita is the mother of Preetam’s son.

11. (a) Kartik Yamini

Ankit Nirupama

Saloni

—

Deepak

+

+ —

+—

Father

Kartik is the father of Ankit.

12. (c)
Akun Nikita Murali

UdayYaminiVanmay

KamalSamitaTeena

–+ +

+

Rahul Pamila

+

+

+– –

– –

–

Yamini is Rah+ul’s maternal aunt.

13. (b)

R T V

Z S

C Y

++

+–

–

V, C dk iq=k gS vkSj T, V dh iRuh gSA
T is the daughter-in-law of C, but not daughter.

14. (a)

Arpita Pritam

Son

+–

+–

Arpita is the mother of Preetam’s son.

15. (c) 

U C
– +

K G
+ –

SW

T R
+

+ +

U, R dh lkl gS vkSj G, U dh ek¡ gSA
G is the maternal grandmother of R.

16. (b) Mother

Mihir Kauamudi

– + + –

Mihir is Kaumidis’ cousion.

fefgj] dkSeqnh dk ppsjk HkkbZ@cgu gSA

17.(b) Barun
+

Jahnavi
—

Taruni
—

Dilip
+

Lekha
—

Hema            
—

Manoj

Raghu
+

Taruni is the wife of Dilip.
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18. (d) B
–

O
+

B
+

O
–

W
+

D is the wife of W.

19. (b)

Swati Manya–

Divya

+

+

+

Maternal grandfather.

20. (c)

Geeta Rinku Ruby

Niraj

Vishnu Jiya Tiya

+

–

– –

:ch] fV;k dh ek¡ gS vkSj uhjt] :ch ds firk gSaA
Neeraj is maternal grandfather of Tiya.

21. (b)

Vinita Amita Gaurav

Ashish

Ansh

+

– –

+

vferk] va'k dh ek¡ gS vkSj vk'kh"k] vferk ds firk gSaA
Ashish is maternal grandfather of Ansh.

22. (b) C # D @ E % Z & L # M – N * P

C
—

E
+

D
+

L
—

M
—

Z
+

N
—

P
+

M, P dk iq=kh gS vkSj L, M dh cgu gSA
L is the daughter of P.

23. (c) S @ T # P @ Q # R & V

S
+

T
—

P
+

Q
—

R
+

V

T is the mother-in-law of Q.

24. (b) A  = B     E = F
— + + —   

C  = D    G
— +

C, B dh iRuh gS] vkSj A, C dh ek¡ gSA
A is the Mother-in-law of D.

25. (d) C # D @ E % Z & L # M – N * P

N      P
— +

C
—

E
+  

D
+

L
—

M
—

Z
+

L, N dh iq=kh gS] E, L dk ifr gS vkSj Z, E dk iq=k gSA
Z is the grandson of N.

26. (b) U + V × K – B

U
+

V
—

K
+

B

K, B ds firk gSa vkSj U, K ds firk gSaA
U is the paternal grand father of B.

27. (a) P – Q × R

RQ
—

P
+

P is the father of R.

28. (b) H @ V @ U # W & E ^ X # Z & R ̂  S

H— U —V — W
+

E—

X
—

Z
+

R
—

S

29. (b) P – Q – R * S $ T

P
—

Q
—

R
—

T
+

S
+

Q, P dh iq=kh gS vkSj T, Q dk ifr gSA
P is the mother in law of T.

30. (b) P ÷ Q × R

P
—

Q
+

R

P is the sister of R.

31. (c) X @ Y $ J * M

Y
+

X
—

J
—

M

X, is the sister of M.

32. (b) P – Q + R

P
—

Q
+

R

P is the mother of R.

33. (a) V 8 U @ W # Y * Z

W
+

U

Y
—

ZV
—

V is the sister of Z.
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34. (a) W # Q @ T & Y @ M % K % L

M
—

T
+

W
+

Y
+

Q
+

K
—

L

K is the sister of W.

35. (a) P + Q % R % S # T – U

P
+

T
—

Q
+

R
+

S
—

U

Q is the brother of U.

36. (a) A & B # C & D @ E % F + G

A
—

B
+

F
—

E
+

C
—

D
+

G

D is the brother of G.

37. (b) P ÷ Q + R

P
—

Q
—

R

P is the mother of R.

38. (b) X @ Y & Z # U & W @ V

Y
—

Z
+

W
+

U
—

X
+

V

W, V dk iq=k gS vkSj U, W dh iRuh gSA
U is the daughter-in-law of V.

39. (d) P – Q × R

P
+

R
   

Q
+

Q is the brother of P.

40. (c) W & Q # T & Y @ M % K

W
+

M
—

T
+

Q
—

Y
+

K

W, T ds firk gSa vkSj T, K ds firk gSaA
W is the father's father of K.

41. (c) D @ N @ H & Y @ F % V

+F      – V

Y –H +

N –

D –

N, Y dh csVh gS vkSj Y, F dh csVh gSA
N is the daughter's daughter.

42. (d) W % D # G @ B & M @ I

I     

M
–

B +

G –D
+

W =
–

D is the son of M.

43. (a) S % D # F @ G & H @ J

J

H
–

G
+

F –S =D –  +

F is the daughter of H.

44. (d) D @ N @ H & Y @ F % V

V +F
–

Y
–

H
+

N
–

D –

H dh iRuh (Y) ds firk V gSA
V is the wife's father.

45. (d) D @ N @ H & Y @ F % V

H

N

D

y
+

–

–

–

F
–

V
+

D dh ek¡ (N) dh ek¡ Y gSA
y is the mother's mother of D.

46. (b)

G H

J

FDS

+ –

–+–

J dh iq=kh (H) dh iq=kh F gSA
F is the Daughter’s Daughter of J.

47. (a) 

H

N

D

Y
+

–

F V

–

– +

–

D dh ek¡ (N) dh ek¡ Y gSA
Y is the mother's mother of D.

48. (a) 

V B

N

CXZ

+ –

+–

B dk iq=k (X) dh iRuh Z gSA
Z is the son's wife of B.
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49. (b) P – Q + R

P           Q
– +

R

P is the paternal aunt of R.

50. (b) P + Q × R

P
 –

R

Q
+

Q is the son of P.

51. (b)  A + G & I + R @ S @ T # U & V

A
+

R
–

S
–

T
—

U
+

V

G
+

I
+

A is the paternal grandfather of T.

A, T dk ukuk ugha cfYd nknk gSA vr% fodYi (b) lgh mÙkj gSA
52. (c) P – Q × R

Q     
+ R

P
—

Q is the son of P.

53. (b) P + Q × R

P
+
 — Q

–
 — R

P is the brother of R.

54. (d) P × R ÷ Q

R
+

P
+

Q

P is the father of R.

55. (d) K # L & M @ N # P

M     
+

L
+

N
—

K

P     
+

L, K dk iq=k gS] M, L dk iq=k gS vkSj P, M dk iq=k gSA
P is the son’s son’s son of K.

56. (d) A ÷ B + C

C

B
—

A
+

B, C dh ek¡ gS vkSj A, B dk firk gSA
A is the maternal grand father of C.

57. (a) P + Q × R

P
+

RQ
+

P is the father of R.

58. (c) A ÷ B × C

A
—

B
—

C

A is the maternal aunt of C.

59. (b) I * J – K % L $ M * N

K
+

L
—

J
—

N
—

M
+

I
+

K, N dk nsoj gS vkSj I, K ds firk gSaA
I is the father-in-law of N.

60. (d) A – B % C * D + E

A
—

C
—B

+

D
+

E

D, E ds ekek gSa vkSj A, B dh ek¡ gSA
A is the father’s mother of E.

61. (b) P – Q + R

P
—

RQ
—

P is the mother of R.

62. (a) P × Q + R

P
—

RQ
—

Q is the son of P.

63. (b) P $ Q # V @ B,

Q
—

P  – V  = B
+ + —

Husband’s brother

P is husband’s brother of B.

64. (b)

Man =+

+

Father
Lady

—

Man is father of that lady.

65. (a) V × Y $ X @ W * A $ Z

V  – X  = Z
— + —

Y  – W – A
— + —

Z is mother of Y.

66. (d) P % Q $ S # R % U × T

S – R  – U  = T
— + + —

P  – Q
+ +

U is mother’s brother of P.



Rea
so

nin
g

by

Vi
kra

m
je
et

 s
ir

Youtube-Rankers' Gurukul  17Join Telegram Group- RG VIKRAMJEET

67. (c) W # Q @ T & Y @ M % K

W = T  – Y
+ — + 

Q
+

M = K
— + 

K is father-in-law of W.

68. (c) A C

B F G

—

+—

—

E
+—

Wife’s brother’s wife

B is the wife of brother of G’s wife.

69. (b)
Father Brother

+ +

2
4

6
—

5
+

1
+

Sister

3
+

4 is sister of 1.

70. (c)

Roshni

Mother

Father Wife

Person Wife

Mother’s brother’s wife

That person’s wife is mother’s brother’s wife of Roshni.

71. (b) D × O ÷ E + Y

E   =  Y
+ —

D  –  O
— +

Daughter

D is daughter of Y.

72. (a)

K  — 
+

L

W  — Q  — T      Y  — M
+ — + — ———

We can see that K is T wife’s Father.

Smart approach we read and do the question only T

to K and use option.

73. (b)

N
+

Q
+

M
—

O
+

R
+

S
—

N is the Brother of R’ Father.

74. (b)

Y
+

M
—

K
+

T
—

W
+

Q
—

K is the father of T.

75. (d) T
—

S

V +

W
+

X —

U +

V is father of S

76. (d)

O
+

O
—

O
+

Boy

Mohan

That boy is Mohan’s Uncle.

77. (a)

O
—

(Lady)

O
—

O
—

Navneet

That lady is Navneet’s mother’s sister.

78. (d) P
+

Q
—

R
+

S

T
—

T is the wife of P.

79. (a)

Farhan
+

Aman
+

Baman
—

Chaman

Emili

Baman is the sister of Chaman.

80. (d) O
+

O
—

O
—

Ram

(Lady)

O
—

That lady is Ram’s mother.

81. (c)

Ram

O
+

Rahul
+

O
—Ashok

O
—

Ashok is mother’s brother of Rahul’s daughter.

82. (d) L
+

M  
+

N
—

O
—

P
—

P is the mother of N.

83. (a) D
—

E
+

F
—

G
+

H

E is the brother of G.

84. (b) Shreya O
+

O
+

O
+ (Boy)

That boy is Shreya’s nephew.
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85. (c)

Manisha
—

Sakshi
—

Shubham
+

Darshan
+

Akash
+

Rekha
—

Saloni
—

(Wife)

Saloni is mother-in-law of Sakshi.

86. (d) O
—

Riya

O
+

O
+

(Man)

Riya is the daughter of that man.

87. (b) O
—

Shivang

O
+

O
+
(Man)

That man is Shivang’s maternal grand father.

88. (d) O
+

Parkhi
—

O
+

(Man)O
+

That man is brother-in-law of Parkhi’s hushand.

89. (d) Aryan
+

Bhanu
—

Chirag
+

Diwan
+

Isha
—

Isha is Aryan’s daughter-in-law.

90. (b) M ÷ N + O – P

M
+

N
—

O
+

P
—

P is daughter-in-law of N.

91. (b) Penny
—

O
+

Charlie

O
—

Penny is brother’s wife of charlie.

92. (a) Archana
—

O
—

Anjali
—

Nikhil
+

Mukesh

Nikhil’s wife is daughter of Archana.

93. (d)

G
+

J
—

H
+

I
+

K

J is the mother of G.

94. (d) Rinku
+

O
—

O
—

(Lady)

O
+

That lady is the wife of Rinku.

95. (c) B            
—

R
+

H
—

I
—

J
—

R is the father of H.

96. (b)

R
+

M
+

L
+

Q
+

S
–

S is daughter-in-law of M.

97. (a) Priya O
+

O
—

O
+

Lady

That lady is Priya’s sister-in-law.

98. (a) R
+

T
—

H
—

S
+

N

H is daughter’s daughter of N.

99. (c) Suman O
+

O
—

(Girl)

O
+

That girl is Suman’s sister.

100.(d) Mukesh O
—

Ramesh
+

Rani

Ronit

Madhur
+

Sheetal
—

Rema
—

Ronit is Mukesh’s nephew.


